TH4E FHIKES

has - BB
[ B THGH 2A2H 3R28 | 4A2%H | 5ATIH 6ATH TH25E | 8A10H | 9A28H | 10A128 | 11428 | 12A78
EZEE] B 9:10 9:15 9:45 9:05 9:45 9:12 9:15 10:40 9:20 9:36 9:20 9:45
IE_?R&! [€.1:3) £ o|l%x oOo|l® o]|EK oO[K o] K o [F O]K Oo|EK oL[R O[FK O][RK D
B3] L] L] L] L] L] 2] L] IZhi@ f ) f ) L] L]
KEL m|  0.20 =0.19 —0.18 ~0.08 —0.12 0.1 =0.07 =0.10 =0.02 ~0.06 —0.15 —0.13
£33 m3/sec - - - - - - - - - - - -
n |EER m| _ 0.50 0.60 0.58 0.44 0.56 0.47 0.48 0.58 0.51 0.45 0.47 0.50
w [EAKE m| 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
£ [&& | 23 1.5 6.2 16.0 17.0 20.5 21.0 21.0 21.0 15.3 15.0 6.5
A k& [ 1.5 3.0 7.5 16.7 16.0 7.5 22.5 26.0 20.0 16.8 14.5 8.0
= A (1) Oko&R) KEED | RNEE | KEEY | KE2D | A2 | KREEH | KEEY | RNEE | KB | HHEE | KEEY | REES
B SR (2) (FER) [[E3 [[E3 [[E3 [[E3 [[E3 [:E3 [[E3 [[E3 [[E3 [[E3 &3 &3
B (3) OKWRiR) - - - - - - - - - - - -
SR (4) (E0i) - - - - - - - - - - - -
CENE ) £ EIx 2w =2lxE =2|IE 2| K 2 | K& 2K =HiEg =|x =|xk =Z|IE =
BRE on|  >100 5100 5100 5100 100 >100 100 100 100 5100 5100 5100
@ﬁ m - - - - - - - - - - - -
FE[pH 7.4 7.5 7.2 7.3 7.6 7.4 8.0 7.6 7.6 7.6 7.1 7.5
3%&[BoD m/L| 2.7 2.4 5.2 2.2 1.6 2.1 11 1.9 0.5 1.0 2.9 2.2
fedod G me/L| 4.7 5.1 6.4 4.2 3.6 3.2 4.0 3.6 3.2 7.9 7.0 3.4
gg S me/L[ < 3 2 2 <1 T 7 3 7 7 2 7
ag[DoO mg/L|  13.0 1.5 12.0 9.7 10.8 9.5 7.8 8.1 8.4 9.0 8.5 9.1
Ee | XBEEE (1) WPN/T00nL | 11000 3500 1100 320 200 230 500 1100 1200 960 1100 720
B < |[BER meg/L|  2.73 2.84 2.58 1.23 2.04 1.43 1.12 2.56 0.75 0.95 1.58 1.43
BlEy> mg/L| 0.107 0111 0.133 0.073 0.117 0.103 0.071 0.212 0.055 0.065 0.086 0.061
EIEL2N me/L - - - - - - <0.0003 - - - = =
[ESP28% mg/L - - - - - - <0.1 - - - - -
3 mg/L - - - - - - <0005 - - = = =
67 0L mg/L = = = = = = <0.01 = = = = =
EX mg/L - - - - - - <0005 - - = = =
BRI mg/L = = = = = = <0. 0005 = = = = =
A TIL¥ILKE mg/L - - - - - - <0. 0005 - - - - -
) PCB mg/L = = = = = = <0. 0005 = = = = =
® [Sro0As> me/L - - - - - - <0.002 - - - = =
B EEEER me/L| - B B B B B <0.0002 B B B - -
o |[izspmEzsy we/l - - - - - - <0.0004 = = = = =
g [L=SFmmzFLY mg/L = = = = = = 0.002 = = = = =
I= TA-1,2-U5/BATFLY mg/L - - - - - - <0.004 - - - = =
B [Lii-rUusnnxzo me/L = = = = = = <0. 0005 = = = = =
¥ [lzFryyBazis me/L - - - - - - <0. 0006 - - - = =
3 [FysopzFiy me/l| - B B B B B 30,001 B B B B B
: FF5500TIF0> me/L - - - - - - <0. 0005 - - - = =
F 1,3-Y9RaR7ARY (D—D) mg/L - - - - - - <0. 0002 - - - - -
a |[FOSA me/L - - - - - - <0. 0006 - - - = =
B [y (cAT) ma/L = = = = = = <0.0003 = = = = =
8 FARCANT (ROFAH—T) mg/L - - - - - - <0.002 - - - - -
"€ mg/L = = = = = = 0001 = = = = =
ZLY me/L - - - - - - <0.002 - - - = =
WBEERRUENRBEER mg/L[ - - - - - - 0.66 - - - - -
SoR mg/L - - - - - - <0.08 - - = = =
E5R mg/L - - - - - - 0.02 - - - - -
1, 4—SAXHY me/L - - - - - - <0.005 - - - - -
g*ﬁﬁl’ﬁ ETY me/L - - - - - _ _ _ _ _ _ _
FUE=OLBEX me/L[ 0.83 - 0.04 - <0.01 - 0.03 - 0.03 - 0.02 =
EMRBER mg/L|_0.077 = 0.067 = 0.095 = 0.075 = 0.038 = 0.078 =
mg/L]  1.19 - 1.05 - 1.53 - 0.59 - 0.58 - 0.96 -
meg/L] _ 0.63 = 1.42 = 0.42 = 0.43 = 0.10 = 0.52 =
me/L - - - - - - 0.93 - - - = =
mg/L = = = = = = = = = = = =
a [TAFUCBEVY mg/L|_0.066 - 0.0/4 - 0096 - 0055 - 0.041 - 0051 -
F [(EEELILFUCBEY mg/L - - - - = = 0.052 = = = = =
® [BRESY> me/L - - - - - - 0.057 - - - = =
1 [IP) mg/L — — — — — — — — — — — —
B [A@ER% (T0C) me/L| - - - - - - 7,500 - - - - -
B [WMMcop me/l] - = = = = = = = = = = =
SH074)la ug/l 1 - 1 - 4 - 2 - 2 = 3 =
2zX74FY (FzFER) ue/l 2 - 3 - 2 - 2 - 1 - 2 -
#0241 ug/L - - - - - - - - - - - -
POE] mg/L] 11 10 9 = = = = = = = = =
EWT5 9 FoRK #R/mi| 228 - 1025 - 1312 - 306 - 201 - 647 -
(WIS o Fo 8k - - - - - - 3 B B B ~ =
LI mg/L - - - - - - <0.0006 = = = = =
FS52R-1,2-Y50R0TFLY me/L = = = = = = 20,004 = - - = =
1,2->70070/> mg/L = = - - - - <0.006 - - - = =
p—SonnRoHy mg/L - - = = = = <0.02 = = = = =
AIXFFFY me/L - - - - - - <0.0008 - - - = =
HAFS/ > me/L - - - - - - <0. 0005 - - - - -
Z2x=+AFXY (MEP) meg/L - - - - - - <0. 0003 - - - - -
1IIOFA5> mg/L - - - = = = 0.004 = = = = =
TR UM () mg/L - - - - - - <0.004 - - = = =
JBER%A=) (TPN) mg/L - - - - - - <0. 004 - - - - -
B [JOe¥sF me/L| - - = = = = <0.0008 - - - - -
g B (EPN) mg/L - = = = = = <0.0006 = = = = =
5 Sy ALKRR (DDVP) me/L - - - - - - <0. 0008 - - - - -
[ 2x/7FHNT (BPMC) me/L - - - - - - <0.003 - - - - -
470RvkR (1BP) me/L - - - - - - <0. 0008 - - - - -
JEL=FnJx> (CNP) ma/L = = = = = = 00001 = = = = =
FLTY me/L - - - - - - <0.06 - - - = =
I me/L - = = = = = <0.04 = = = = =
TELBESIFAAEIIL me/L - - - - - - <0. 006 - - - - -
=97 mg/L - - = = = = <0.001 = = = = =
E)ITY me/L - - - - - - <0.007 - - - = =
FUFEY mg/L - = = = = = <0.002 = = = = =
SoR mg/L - - - - - - - - - - - -
E5K mg/L - - - - - = = = = = = =
ﬁ REL Bl 17 2.2 5.4 48 1.3 1.9 1.2 2.1 1.0 1.3 1.4 0.8
[ELE] ms/m - - - - - - 11.0 - - - - -
top |[REEABEER E/T00mL] 20 - 32 - 60 - 86 - 180 = 17 =
1A R H mg/L - = = 11 9.5 11 10 12 12 11 10 9.3
|BRE Y B meg/L - - - - - - - - - - - -
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